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I11. N§i dung cAu héi thi
PHAN TRAC NGHIEM (5.6 diém)

SECTION 1 (16 questions, 0.2 mark each)

Choose the correct answer A, B, C or D. (3.2 marks — 0.2 each)
How many morphemes are there in the word "irresponsible'?
A.3

B.2

C.4

D.1

ANSWER: A

The morphemes in "unhappiness' are
A. bound + free + bound

B. bound + bound + free

C. free + bound + free

D. free + free + bound

ANSWER: A

Which one of these statements is true?

A. 'mess' in "darkness" is a derivational morpheme
B. 'ed' in "walked" is a derivational morpheme
C.'un' in "untie" is an inflectional morpheme

D. 'ing' in "running" is a derivational morpheme

ANSWER: A
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Which is the correct division of the English word "internationally' into morphemes?

A. inter + nation + al + ly

B. inter + na + tion + al + ly
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C. in + ter + nation + ally
D. inter + nation + ally

ANSWER: A

If the addition of a morpheme causes a word class to change, it is a
A. derivational morpheme

B. inflectional morpheme

C. bound morpheme

D. root morpheme

ANSWER: A

The inflectional morpheme 's' in 'runs' is
A. third person singular

B. possessive

C. plural

D. past participle

ANSWER: A

What type of word is 'above'?

A. Preposition

B. Noun

C. Adjective

D. Conjunction

ANSWER: A

Which of these words is an example of a proper noun?
A. John

B. Chair

C. Happiness

D. Sponge
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ANSWER: A

What type of word is "lend"?
A. Ditransitive verb

B. Modals

C. Intransitive verb

D. Complex transitive verb

ANSWER: A

State the sentence structure "I studied all night for the exam, yet I still didn't feel fully
prepared."

A. Compound sentence

B. Complex sentence

C. Compound-Complex sentence
D. Simple sentence

ANSWER: A

Complete the complex sentence: '""Anne dropped her cup of tea..."
A. since she was frightened by a bee."

B. and Tim laughed at her."

C. but she immediately picked it up."

D. so she needed another one."

ANSWER: A

State the sentence structure: " Although it was raining, we went for a walk."
A. Complex

B. Compound

C. Compound-Complex

D. Fragment
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ANSWER: A

Find the adjective phrase in this sentence: '"The dress with blue stripes looks beautiful."
A. with blue stripes

B. looks beautiful

C. the dress

D. blue stripes

ANSWER: A

In the sentence "After finishing her homework, Sarah went out to play." What is " After
finishing her homework'?

A. Adverbial phrase

B. Subordinate clause

C. Independent clause

D. Noun phrase

ANSWER: A

Which of the following sentences contains structural ambiguity?
A. "l saw the man with the telescope."

B. "The dog barked at the stranger."

C. "She read the book on the porch."

D. "They decided to go for a walk after dinner."

ANSWER: A

Find the noun phrase in this sentence: "The large bouquet of roses on the table is beautiful."
A. The large bouquet of roses on the table

B. The large bouquet

C. On the table

D. Is beautiful

ANSWER: A



SECTION 2

IC TREE DIAGRAM (8 questions, 2.4 marks — 0.3 each)

What is each numbered space best replaced with?

VP1
/\
1 VP2
/\
VP3 4
2 3
always suffer  from headaches at night

A. 1: AdvP, 2: Vgrp, 3: PP, 4:AdvP
B. 1: AP, 2: Varp, 3: PP, 4:PP

C. 1: AdvP, 2: NP, 3: PP, 4:PP

D. 1: AdvP, 2: Vgrp, 3: NP, 4:PP
ANSWER: A

What is each numbered space best replaced with?

NP,
A
NP, 4
DET N, Relative Clause
/\
AP, N’y
| —
1 2 APg N3
' |
| | |3 headN
' |
My beautiful silk dress that I bought from her store

A. 1: PossA, 2: A, 3: ModN, 4: AP
B. 1: Q, 2: A1, 3: A2, 4: NP
C. 1: PossPropN, 2: A, 3: ModN, 4: AP
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D. 1: PossPropN, 2: A1, 3: A2, 4: NP

ANSWER: A

What is each numbered space best replaced with?

1
/\
2 3
/\
DET Nr’
| /\
| |
4 headN

I |

in the red dress

A.1: PP,2:P,3: NP, 4: A
B.1: NP, 2: P,3: NP, 4: A

C. 1: PP, 2: P, 3: NP, 4: ModN
D.1: VP,2:P,3: NP, 4: A
ANSWER: A

What is each numbered space best replaced with?

N

3

N .
S

1 Vi 2 Head Head A
| | | | |

David kept his teammates excited.
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A. 1: PropN, 2: PossA, 3: NP1, 4: AP
B. 1: PropN, 2: DEM, 3: NP1, 4: N1
C. 1: HeadN, 2: ART, 3: A, 4: N1

D. 1: PropN, 2: QA, 3: NP1, 4: AP

ANSWER: A

What is each numbered space best replaced with?

S3
S1

NP2 VP2

1 VP1 4

Vgrp(intens)

She enjoys painting, yet she 1s

A. 1: NP1, 2: NP, 3: S2, 4: conj

B. 1: HeadN, 2: VP, 3: S2, 4: comp
C.1:NP1, 2: VP, 3: S2, 4: conj
D. 1: NP1, 2: VP, 3: S, 4: comp
ANSWER: A

What is each numbered space best replaced with?

busy.
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/ ; NP2 VP2
NP1 1 3

Vgrp 4

7\

g4 p
4 g

\ /
N d
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NP2

7\

\\

You exercise consistently or you will not achieve your fitness goals.

A. 1: VP, 2: AdvP, 3: Conj, 4: Vgrp
B. 1: VP, 2: AdvP, 3: Comp, 4: Vgrp
C. 1: VP, 2: AP, 3: Conj, 4: Vgrp

D. 1: NP, 2: AdvP, 3: Comp, 4: Vgrp
ANSWER: A

What is each numbered space best replaced with?

S
NP/\I
The trip 2 3
MOD VP 4 S
[pres] /\ ‘ /\
| Y AP if NP VP
will [intens] A
‘ very happy Lisa comes.

be

A.1: VP, 2: VP, 3: S, 4: Comp
B. 1: VP, 2: VP, 3: S, 4: Comp
C.1: VP,2: VP, 3: S', 4: Conj
D. 1: NP, 2: VP, 3: S', 4: Comp
ANSWER: A
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What is each numbered space best replaced with?

S1

DET 1 |
i NP2 VP2
‘ Head N f
ART \ ‘
| | | -
The news that he won the lottery is shocking.

A.1: N’, 2: Comp, 3: S’, 4: VP1
B. 1: N, 2: Conj, 3: S, 4: AP1
C.1:N’,2: Conj, 3: S°, 4: AP1
D. 1: N’, 2: Comp, 3: S, 4: VP1
ANSWER: A

PHAN TU LUAN (4.4 diém)
SECTION 3

Identify the different word-formation processes involved in producing each of the underlined
words in these sentences. (2 marks — 0.2 each)

Example: Could you please empty your bag?
Answer: Conversion

Question 1: The team's efforts must cohere to achieve their common goal successfully.
Question 2: She practiced her piano skills every day to prepare for the upcoming recital.
Question 3: He took detailed notes in his notebook during the lecture to study later.

Question 4: The webinar on digital marketing attracted participants from various countries

worldwide.

Question 5: He goes to the gym every morning to maintain his fitness and health.
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Question 6: The modernization of the city infrastructure has greatly improved public

transportation efficiency.

Question 7: She took an aspirin to relieve her headache after a long day at work.

Question 8: The teacher wrote the lesson plan on the blackboard for the students to follow.
Question 9: Meditation can help relieve stress and promote a sense of inner peace.
Question 10: The surgeon used a laser to perform the delicate eye surgery with precision.
SECTION 4

Determine the form (N, V, Adj, Adv, or Uninflected Words — UW), position (Nominal,
Verbal, Adjectival, Adverbial), and syntactic functions (Subj, DirObj, IndirObj, PreObj,

SubjComp, Mod...) of the underlined word in each of the following sentences. (2.4 marks —
0.3 each)

Example: Max was struck by lightning.

Answer: Form: Noun Position: Nominal Function: PrepObj

Question 1: The cat is sleeping on the warm windowsill.
Question 2: He always studies diligently before his exams.

Question 3: The song to be performed tonight is a favorite.

Question 4: My mother made me a delicious dinner.
Question 5: The excited children ran to the playground.

Question 6: His dream is to become a professional athlete.

Question 7: I found the lecture extremely enlightening.

Question 8: They named her the captain of the team last season.

PAP AN PHAN TU LUAN VA THANG PIEM

Phin ciu héi \ Noi dung dap dn Thang di¢m Ghi chu
I. Tric nghiém 5.6
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Part 1

Answer A

3.2

0.2d méi
cau

Part 2

Answer A

24

0.3d méi

II. Ty luin

4.4

Part 3

Pép an cau 1: backformation

bép an cau 2: borrowing

bép an cau 3: compounding/ compound
bép an cau 4: blending/ blend

Pép an cau 5: clipping

Pap an cau 6: derivation/ affixation
DPap an cau 7: coinage

bap an cau 8: compounding/ compound
bép an cau 9: conversion

Pép an cau 10: acronym

2.0

Part 4

bép an cau 1: Form: noun phrase,, Position:
nominal, Function: Subject

Pap an cau 2: Form: adverb, Position:
adverbial, Function: Modifier/ Mod/
Adjunct/ Adjunct of manner

bap an cau 3: Form: infinitive phrase,
Position: adjectival, Function : Modifier/
Mod

Dép an cau 4: Form: UW, Position:
nominal, Function: IndirObj/ Indirect
Object/ 1O

Dap an cau 5: Form: past participle,
Position: adjectival, Function:
Modifier/Mod

Dap an cau 6: Form: infinitive phrase,
Position: nominal, Function: SubjComp/
subject complement/ SC

Dép an cau 7: Form: noun phrase, Position:
nominal, Function: DirObj/ Direct Object/
DO

Dap an cau 8: Form: noun phrase, Position:
nominal, Function: ObjComp/ Object
complement/ OC

24

0.3d moi
cau

Diém tong

10.0
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TP. Hé Chi Minh, ngay 22 thing 10 nam 2024
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